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HOMEWORK Solving Systems by Graphing

How can you show all of the solutions (or possibéndy values) for the linear equatigri= 2x — 3?
Graph the line, of course! Each point on the iga solution.

Linear Equation M |
y=2x-3 > fl
. . . 3 ;
y-intercept = -3 So, one coordinate is (0, -3) ol LT
dope=2=rise So, another coordinate is (1, 1 ;4
1 run §4-32-0 42248 x
:f' @y
(0,-3) T
Use the graph to write three different solutionsxoand 2{ -sl

y-coordinates) of the equatigr= 2x — 3. Then show th
each ordered pair makes the equation true by plgggi
the (x, y) into the equation.

2, 1) (3,3 (-1, -5)
1=2(2)-3 3=2(3)-3 5=2(-1)-3
1=4-3 3=6-3 5=-2-3
1=1 3=3 5=-

Two or more linear equations together form a systéhmear equations.

One way to solve a system of linear equations igraphing. Any point common to all the lines is a
solution of the systemSo, any ordered pair that malatisthe equations true is a solution of the system.

Example 1:
Solve the system of linear equations by graphing. y=2-3
y=x-1
Graph both equations on the same coordinate grid. .
y = 2x — 3 Slope is 2 or 2/1, y-intercept is —3 E ’l
y=x—1 Slope is 1 or 1/1, y-intercept is -1 3 l
Find the point of intersectior:— ==~~~ §43-2-1 2349x
The lines intersect at (2, 1), so (2, 1) is theitsoh /
of the system. _
Check: See if (2, 1) makes both equations true. -sl
1=2@2)-3 1=2-1
1=4-3 1=© It checks, so (2, 1) is the solution of the system

1=10 of the linear equations.



Solving Special Types of Systems:

A system of linear equation has no solutwmen the graphs of the equations are parallel.
There are no points of intersection, so there isalotion.

Lines are parallel when they have the same slope.

y=-x+1 y=3x-2
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A system of linear equations has infinitely manijusonswhen the graphs of the equations are the same

line. All points on the line are solutions of thestem.

Example 2:

Solve the system by graphing. —4y =4 + x

Yax+y=-1
Remember to graph, you must rearrange the equsditmat it is in the slope-intercept form (y = &x)
-4y =4+ X Yax+y=-1
-4 -4 -Yax -Yax
y = -1 -Y4x y:-]__1/4x
. . y
Now, graph each line on the same coordinate plane. 5
Since the graphs are the same line, the system has f
infinitely many solutions :
$9-3-2¢1. 2.1 23 1 § x
:'] T
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HOMEWORK Solving Systems by Graphing

How can you show all of the solutions (or possibéndy values) for the linear equatigri= 2x — 3?

Graph the line, of course! Each point on the iga solution.

Linear Equation M |
y=2x-3 > /41
. . . 3
y-intercept = -3 So, one coordinate is (0, -3) 2
slope=2=rise So, another coordinate is (1, 1
1 run 543210 4224%8x
:f' @y
0,-3) T
Use the graph to write three different solutionshef -sl

equationy = 2x — 3. Then show that each ordered pai
makes the equation true.

Two or more linear equations together form a

One way to solve a system of linear equations igraphing. Any point common to all the lines is a

true is a solution of the system.

. Sardayed pair that maked the equations

Example 1:
Solve the system of linear equations by graphing. y=2-3
y=x-1
Graph both equations on the same coordinate grid. .
y= 2x—3 Slope is , y-intercept is S
y=Xx-—1 Slopeis , y-intercept is 3
Find the point of intersection: :
The lines intersect at , SO -§-4-3-2-101234%«x
is the solution of the system. =p
Check: See if (2, 1) makes both equations true. ij
y=2x-3 y=x-1 -




Solving Special Types of Systems:
A system of linear equation has when the graphs of the equations are parallel.

There are no points of intersection, so there isaiotion.
Lines are parallel when they have the

y=-x+1 y=3x-2
y=-x-1 y = 3X
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A system of linear equations has when the graphs of the
equations are the same line. All points on the #ire solutions of the system.

Example 2:
Solve the system by graphing. -4y =4 + x
Yax+y=-1
Remember to graph, you must rearrange the equsdidmat it is in the slope-intercept form (y = &x)
—4y =4 + X Yax+y=-1

Now, graph each line on the same coordinate plane.

Since the graphs are the same line, the system has
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Homework:

Is (-1, 5) a solution of each system? Verify yanswer.

Example:

y=x+4

y = -1/5X

Answer:

y=x+4 y =Hsx
5=(-1)+4 5 =Hg(-1)
5=3 5%

No, (-1, 5) is not a solution for this system.

Is (-1, 5) a solution of each system? Verify yowanswer
1) y=5 2) y=2x+7
X=y—6 y=x+6

Solve each system by graphing. Writao solution or infinitely many solutions where
appropriate. Check your answer by plugging in thecoordinate of intersection back
into the equations.

3)y=-x+4 Graph: Check:
y=2x+1
:
3
$54-3-2-1012345x

Answer




4) y=3x+2 Graph: Check:
4y =12x + 8
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Answer
5) 2x-2y=-4 Graph: Check:
y—-x=3
:
3
$54-3-2-10 12345 x
Answer
6.) y=1 Graph: Check:
y+x=9
:
3

Answer




7.) y=4x-3 Graph: Check:
y=4x+ 2
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Answer

Without graphing, decide whether the lines in eaclsystem a.)intersect, are paralle,
or arethesameline. Then write whether there is b.)one solution, no solutions or
infinitely many solutions.
8.) y=2x 9) x+y=4

y=2x-5 2Xx+2y=8
a.) a.)
b.) b.)
10.) 2y —10x=2 11.) 3x-5y=0

y=5x+1 y =3sx

a.) a.)
b.) b.)




